

TABULATION CHART B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 1 of 10

ROLL NO 18010508 **CENTER-**

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

CHHATTISGARH, RAIPUR (C.G.)

STUDENT NAME CHANCHAL SINHA

I-9/00054

COLLEGE-

TOTAL MARKS

UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

F NAME

EROLL NO

DOMAN LAL SINHA

ENGLISH / ATKT / F / OBC

ROLL NO. **RESULT**

M NAME **BHARTI SINHA**

| SUBJECT NAME THEORY | ES | SE OBT. | MAX | OBT. | C MAX | M OBT. | _ TOTAL MAX. | TOTAL OBT. | ATT. | GRADE | GP | CREDIT POINT | 18010508 |
|-------------------------------------|----|------------|-----|------|----------|--------|--------------|---------------|------|-------|----|-----------------|----------|
| | | | | | | | | _ | | | | | † |
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 41 | 15 | 9 | 10 | 10 | 100 | 60 | | С | 7 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 36 | 15 | 8 | 10 | 10 | 100 | 54 | | D | 6 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 29 | 15 | 9 | 10 | 10 | 100 | 48* | 1* | F | 0 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 35 | 15 | 11 | 10 | 10 | 100 | 56 | | D | 6 | 4 | PASS |
| SUBJECT NAME PRACTICAL | | | | | | | | | | | | | DC 02 |
| PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 26 | 10 | 10 | 5 | 5 | 50 | 41 | | Α | 9 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| | | | | | | | | | | | | | |

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--------------------------------------|
| SGFA- | C1+C2+C3+C4+C5 |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

6.17

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE.....



TABULATION CHART B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 2 of 10

ROLL NO 18010511 **CENTER-**

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

I-9/00057

CHHATTISGARH, RAIPUR (C.G.)

STUDENT NAME

DINANATH SAHU

COLLEGE-

TOTAL MARKS

UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

F NAME

EROLL NO

JAIPAL SAHU

TEEJ DEVI

ENGLISH / ATKT / M / OBC

6.00

ROLL NO. **RESULT**

M NAME

| SUBJECT NAME THEORY | ES | SE | s | E | С | М | _ TOTAL MAX. | TOTAL | ATT. | GRADE | GP | CREDIT | 40040544 |
|-------------------------------------|-----|------|-----|------|-----|------|--------------|-------|------|-------|----|--------|----------|
| | MAX | OBT. | MAX | OBT. | MAX | ОВТ. | | ОВТ. | | | | POINT | 18010511 |
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 40 | 15 | 9 | 10 | 10 | 100 | 59 | | D | 6 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 36 | 15 | 8 | 10 | 10 | 100 | 54 | | D | 6 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 27 | 15 | 9 | 10 | 10 | 100 | 46* | 1* | F | 0 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 38 | 15 | 8 | 10 | 10 | 100 | 56 | | D | 6 | 4 | PASS |
| SUBJECT NAME PRACTICAL | | | | | | | | | | | | | DC 04 |
| PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 26 | 10 | 10 | 5 | 5 | 50 | 41 | | Α | 9 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--|
| SGFA- | C ₁ +C ₂ +C ₃ +C ₄ +C ₅ |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE......



TABULATION CHART B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 3 of 10

ROLL NO 18010513

CENTER-

COLLEGE-

TOTAL MARKS

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

I-9/00060

CHHATTISGARH, RAIPUR (C.G.)

UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

STUDENT NAME

HEMANT KUMAR

ENGLISH / ATKT / M / OBC

ROLL NO. RESULT

F NAME

EROLL NO

NETRAM

M NAME REKHA

| SUBJECT NAME THEORY | ES | SE OBT. | S MAX | OBT. | MAX | CM K OBT. | TOTAL MAX. | TOTAL ATT. OBT. | GRADE | GP | CREDIT POINT | 18010513 |
|-------------------------------------|----|------------|----------|------|-----|--------------|------------|--------------------|-------|----|-----------------|----------|
| | | | | | | | | | | | | |
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 48 | 15 | Α | 10 | 8 | 100 | 56 | D | 6 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 50 | 15 | Α | 10 | 7 | 100 | 57 | D | 6 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 43 | 15 | Α | 10 | 8 | 100 | 51 | D | 6 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 26 | 15 | Α | 10 | 9 | 100 | 35* | F | 0 | 4 | FAIL |
| SUBJECT NAME PRACTICAL | | | | | | | | | | | | |
| PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 29 | 10 | 7 | 5 | 5 | 50 | 41 | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 26 | 10 | 8 | 5 | 3 | 50 | 37 | В | 8 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 28 | 10 | 9 | 5 | 2 | 50 | 39 | В | 8 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 29 | 10 | 8 | 5 | 5 | 50 | 42 | Α | 9 | 2 | |
| | | | | | | | | | | | | |

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--------------------------------------|
| SGFA- | C1+C2+C3+C4+C5 |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

5.83

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE......



TABULATION CHART B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 4 of 10

ROLL NO

18010542

CENTER-

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

CHHATTISGARH, RAIPUR (C.G.)

STUDENT NAME

EROLL NO

I-9/00015 HEENA

COLLEGE-

TOTAL MARKS

UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

F NAME

PUSAU DAS DAHARIA

ENGLISH / ATKT / F / SC

ROLL NO. RESULT

M NAME

NEERA BAI

| SUBJECT NAME THEORY | ES | SE OBT. | S MAX | OBT. | C MAX | M OBT. | _ TOTAL MAX. | TOTAL OBT. | ATT. | GRADE | GP | CREDIT POINT | 18010542 |
|--|----|------------|----------|------|----------|-----------|--------------|---------------|------|-------|----|-----------------|----------|
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 44 | 15 | 9 | 10 | 10 | 100 | 63 | | С | 7 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 42 | 15 | 10 | 10 | 10 | 100 | 62 | | С | 7 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 47 | 15 | 10 | 10 | 10 | 100 | 67 | 1* | С | 7 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 45 | 15 | 9 | 10 | 10 | 100 | 64 | | С | 7 | 4 | PASS |
| SUBJECT NAME PRACTICAL PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 26 | 10 | 10 | 5 | 5 | 50 | 41 | | Α | 9 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | 1 |

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--------------------------------------|
| SGFA- | C1+C2+C3+C4+C5 |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

7.67

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE.....



TABULATION CHART
B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 5 of 10

ROLL NO 18010545

CENTER-

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

EROLL NO I-9/00018

COLLEGE- UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

CHHATTISGARH, RAIPUR (C.G.)

STUDENT NAME KAML

KAMLESH SIDAR

ENGLISH / ATKT / M / ST

/ ST

ROLL NO. RESULT

F NAME BAHADUR SINGH SIDAR

M NAME RAMPYARI SIDAR

| SUBJECT NAME THEORY | | SE | | E | | <u>M</u> | _ TOTAL MAX. | TOTAL | ATT. | GRADE | GP | CREDIT | 18010545 |
|-------------------------------------|-----|------|-----|------|-----|----------|--------------|-------|------|-------|----|--------|----------|
| | MAX | ОВТ. | MAX | ОВТ. | MAX | OBT. | | ОВТ. | | | | POINT | + |
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 36 | 15 | 10 | 10 | 10 | 100 | 56 | | D | 6 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 45 | 15 | 10 | 10 | 10 | 100 | 65 | | С | 7 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 36 | 15 | 11 | 10 | 10 | 100 | 57 | 1* | D | 6 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 40 | 15 | 10 | 10 | 10 | 100 | 60 | | С | 7 | 4 | PASS |
| SUBJECT NAME PRACTICAL | | | | | | | | | | | | | |
| PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 30 | 10 | 10 | 5 | 5 | 50 | 45 | | 0 | 10 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 31 | 10 | 10 | 5 | 5 | 50 | 46 | | Ο | 10 | 2 | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |

TOTAL MARKS

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--------------------------------------|
| SGFA- | C1+C2+C3+C4+C5 |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

7.50

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE......



TABULATION CHART B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 6 of 10

ROLL NO 18010549 **CENTER-**

TOTAL MARKS

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

CHHATTISGARH, RAIPUR (C.G.)

MAHENDRA SAHU

COLLEGE-

UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

F NAME

EROLL NO

DHANNU RAM SAHU

ENGLISH / ATKT / M / OBC

7.25

ROLL NO. **RESULT**

M NAME

STUDENT NAME

URMILA SAHU

I-9/00023

| | | | | | | TOTAL MAX. | _ | ATT. | GRADE | GP | CREDIT | 18010549 |
|-----|--|---|---|---|---|--|---|--|---|---|--|---|
| MAX | ОВТ. | MAX | ОВТ. | MAX | ОВТ. | | овт. | | | | POINT | + |
| 75 | 36 | 15 | 9 | 10 | 10 | 100 | 55 | | D | 6 | 4 | |
| 75 | 37 | 15 | 9 | 10 | 10 | 100 | 56 | | D | 6 | 4 | |
| 75 | 39 | 15 | 9 | 10 | 10 | 100 | 58 | 1* | D | 6 | 4 | |
| 75 | 41 | 15 | 9 | 10 | 10 | 100 | 60 | | С | 7 | 4 | PASS |
| | | | | | | | | | | | | |
| 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| 35 | 30 | 10 | 10 | 5 | 5 | 50 | 45 | | 0 | 10 | 2 | |
| 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| | | | | | | | | | | | | |
| | 75 75 75 75 75 35 35 | 75 36 75 37 75 39 75 41 35 29 35 30 35 28 | MAX OBT. MAX 75 36 15 75 37 15 75 39 15 75 41 15 35 29 10 35 30 10 35 28 10 | MAX OBT. MAX OBT. 75 36 15 9 75 37 15 9 75 39 15 9 75 41 15 9 35 29 10 10 35 30 10 10 35 28 10 10 | MAX OBT. MAX OBT. MAX 75 36 15 9 10 75 37 15 9 10 75 39 15 9 10 75 41 15 9 10 35 29 10 10 5 35 30 10 10 5 35 28 10 10 5 | MAX OBT. MAX OBT. MAX OBT. 75 36 15 9 10 10 75 37 15 9 10 10 75 39 15 9 10 10 75 41 15 9 10 10 35 29 10 10 5 5 35 30 10 10 5 5 35 28 10 10 5 5 | MAX OBT. MAX OBT. MAX OBT. 75 36 15 9 10 10 100 75 37 15 9 10 10 100 75 39 15 9 10 10 100 75 41 15 9 10 10 100 35 29 10 10 5 5 50 35 30 10 10 5 5 50 35 28 10 10 5 5 50 | MAX OBT. MAX OBT. MAX OBT. 75 36 15 9 10 10 100 55 75 37 15 9 10 10 100 56 75 39 15 9 10 10 100 58 75 41 15 9 10 10 100 60 35 29 10 10 5 5 50 44 35 30 10 10 5 5 50 45 35 28 10 10 5 5 50 43 | MAX OBT. MAX OBT. MAX OBT. 75 36 15 9 10 10 100 55 75 37 15 9 10 10 100 56 75 39 15 9 10 10 100 58 1* 75 41 15 9 10 10 100 60 35 29 10 10 5 5 50 44 35 30 10 10 5 5 50 45 35 28 10 10 5 5 50 43 | MAX OBT. MAX OBT. MAX OBT. 75 36 15 9 10 10 100 55 D 75 37 15 9 10 10 100 56 D 75 39 15 9 10 10 100 58 1* D 75 41 15 9 10 10 100 60 C 35 29 10 10 5 5 50 44 A 35 30 10 10 5 5 50 45 O 35 28 10 10 5 5 50 43 A | MAX OBT. MAX OBT. MAX OBT. 75 36 15 9 10 10 100 55 D 6 75 37 15 9 10 10 100 56 D 6 75 39 15 9 10 10 100 58 1* D 6 75 41 15 9 10 10 100 60 C 7 35 29 10 10 5 5 50 44 A 9 35 30 10 10 5 5 50 45 O 10 35 28 10 10 5 5 50 43 A 9 | MAX OBT. MAX OBT. POINT 75 36 15 9 10 10 100 55 D 6 4 75 37 15 9 10 10 100 56 D 6 4 75 39 15 9 10 10 100 58 1* D 6 4 75 41 15 9 10 10 100 60 C 7 4 35 29 10 10 5 5 50 44 A 9 2 35 30 10 10 5 5 50 45 O 10 2 35 28 10 10 5 5 50 43 A 9 2 |

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--------------------------------------|
| SGFA- | C1+C2+C3+C4+C5 |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE......



I-9/00027

PT. DEENDAYAL UPADHYAY MEMORIAL HEALTH SCIENCES AND AYUSH UNIVERSITY OF CHHATTISGARH, RAIPUR (C.G.)

TABULATION CHART
B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 7 of 10

ROLL NO 18010552

CENTER-

COLLEGE-

TOTAL MARKS

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

CHHATTISGARH, RAIPUR (C.G.)

STUDENT NAME MI

MITESH KUMAR JAISWAL

UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

ENGLISH / ATKT / M / OBC

ROLL NO. RESULT

F NAME

EROLL NO

M NAME

VIRENDRA KUMAR JAISWAL

HARIPRIYA JAISWAL

| SUBJECT NAME THEORY | | SE | | E OPT | | M | TOTAL MAX. | TOTAL | ATT. | GRADE | GP | CREDIT | 18010552 |
|-------------------------------------|-----|------|-----|-------|-----|------|------------|-------|------|-------|----|--------|----------|
| | MAX | ОВТ. | MAX | ОВТ. | MAX | ОВТ. | | ОВТ. | | | | POINT | + |
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 34 | 15 | 9 | 10 | 10 | 100 | 53 | 1* | D | 6 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 54 | 15 | 8 | 10 | 10 | 100 | 72 | | В | 8 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 22 | 15 | 8 | 10 | 10 | 100 | 40* | 1* | F | 0 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 37 | 15 | 8 | 10 | 10 | 100 | 55 | | D | 6 | 4 | FAIL |
| SUBJECT NAME PRACTICAL | | | | | | | | | | | | | |
| PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 27 | 10 | 10 | 5 | 5 | 50 | 42 | | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 26 | 10 | 10 | 5 | 5 | 50 | 41 | | Α | 9 | 2 | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--------------------------------------|
| SGFA- | $C_1+C_2+C_3+C_4+C_5$ |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

6.33

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE......



TABULATION CHART
B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 8 of 10

ROLL NO 18010553

CENTER-

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

CHHATTISGARH, RAIPUR (C.G.)

EROLL NO I-9/00028

NARSHING SONKAR

COLLEGE-

TOTAL MARKS

UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)

F NAME M NAME

STUDENT NAME

SEVAK RAM SONKAR

LATA BAI SONKAR

ENGLISH / ATKT / M / OBC

DBC ROLL NO.

RESULT

| SUBJECT NAME THEORY | ES | SE | S | Ε | C | M | TOTAL MAX. | TOTAL | ATT. | GRADE | GP | CREDIT | 40040552 |
|-------------------------------------|-----|------|-----|------|-----|------|------------|-------|------|-------|----|--------|----------|
| | MAX | OBT. | MAX | ОВТ. | MAX | OBT. | | OBT. | | | | POINT | 18010553 |
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 27 | 15 | 9 | 10 | 10 | 100 | 46* | 1* | F | 0 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 34 | 15 | 8 | 10 | 10 | 100 | 52 | | D | 6 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 24 | 15 | 7 | 10 | 10 | 100 | 41* | 1* | F | 0 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 26 | 15 | 7 | 10 | 10 | 100 | 43* | 1* | F | 0 | 4 | FAIL |
| SUBJECT NAME PRACTICAL | | | | | | _ | | | | | _ | | |
| PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 28 | 10 | 10 | 5 | 5 | 50 | 43 | | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 27 | 10 | 10 | 5 | 5 | 50 | 42 | | Α | 9 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 26 | 10 | 10 | 5 | 5 | 50 | 41 | | Α | 9 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 25 | 10 | 10 | 5 | 5 | 50 | 40 | | Α | 9 | 2 | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--|
| SGFA- | C ₁ +C ₂ +C ₃ +C ₄ +C ₅ |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

4.00

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE......



TABULATION CHART B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 9 of 10

ROLL NO 18010561

EROLL NO

CENTER-

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

CHHATTISGARH, RAIPUR (C.G.)

STUDENT NAME

RASHI SAHU

I-9/00036

COLLEGE-**UNIVERSITY COLLEGE OF PHARMACY RAIPUR (C.G.)**

F NAME **HEMLAL SAHU** ENGLISH / ATKT / F / OBC

ROLL NO. **RESULT**

M NAME AMBIKA SAHU

| SUBJECT NAME THEORY | ES | SE OBT. | MAX | OBT. | C MAX | M OBT. | _ TOTAL MAX. | TOTAL OBT. | ATT. | GRADE | GP | CREDIT POINT | 18010561 |
|--|----------------|----------------|----------------|----------------|----------------|----------------|-------------------|-----------------|----------|-------------|-------------|-----------------|----------|
| PHARMACEUTICAL ORGANIC CHEMII PHYSICAL PHARMACEUTICS I PHARMACEUTICAL MICROBIOLOGY | 75 75 75 | 28 51 42 | 15 15 15 | 9 7 8 | 10 10 10 | 10 10 10 | 100 100 100 | 47* 68 60 | 1* 1* | F C C | 0 7 7 | 4 4 4 | PASS |
| PHARMACEUTICAL ENGINEERING | 75 | 32 | 15 | 7 | 10 | 10 | 100 | 49* | 1* | F | 0 | 4 | |
| SUBJECT NAME PRACTICAL PHARMACEUTICAL ORGANIC CHEMISTRY II PHYSICAL PHARMACEUTICS I PHARMACEUTICAL MICROBIOLOGY | 35 35 35 | 24 24 22 | 10 10 10 | 10 10 10 | 5 5 5 | 5 5 5 | 50 50 50 | 39 39 37 | | B B | 8 8 8 | 2 2 2 | DC 04 |
| PHARMACEUTICAL ENGINEERING | 35 | 24 | 10 | 10 | 5 | 5 | 50 | 39 | | В | 8 | 2 | |

TOTAL MARKS

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--|
| | C ₁ +C ₂ +C ₃ +C ₄ +C ₅ |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

5.00

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE.....



TABULATION CHART B. PHARMACY SEM -3 EXAMINATION

FEB-2021

Page 10 of 10

ROLL NO 18010560

560 CENTER-

Pt.DUMH SCIENCES AND AYUSH UNIVERSITY OF

CHHATTISGARH, RAIPUR (C.G.)

STUDENT NAME RAKESH KUMAR

COLLEGE- UNIVERSITY COLLEGE OF PHARMACY, RAJNANDGAON

(C.G.)

′ -

ENGLISH / ATKT / M / OBC

ROLL NO. RESULT

F NAME M NAME

EROLL NO

PRAMILA BAI

NAROTTAM LAL

I-9/00035

| SUBJECT NAME THEORY | ES | SE OBT. | S MAX | E OBT. | | M OBT. | TOTAL MAX. | TOTAL OBT. | ATT. | GRADE | GP | CREDIT POINT | 18010560 |
|-------------------------------------|----|------------|----------|-----------|----|-----------|------------|---------------|------|-------|----|-----------------|----------|
| | | | | | | | | _ | | | | | İ |
| PHARMACEUTICAL ORGANIC CHEMII | 75 | 43 | 15 | 9 | 10 | 10 | 100 | 62 | | С | 7 | 4 | |
| PHYSICAL PHARMACEUTICS I | 75 | 53 | 15 | 10 | 10 | 9 | 100 | 72 | | В | 8 | 4 | |
| PHARMACEUTICAL MICROBIOLOGY | 75 | 41 | 15 | 8 | 10 | 10 | 100 | 59 | 1* | D | 6 | 4 | |
| PHARMACEUTICAL ENGINEERING | 75 | 41 | 15 | 9 | 10 | 10 | 100 | 60 | | С | 7 | 4 | PASS |
| SUBJECT NAME PRACTICAL | | | | | | | | | | | | | 1 |
| PHARMACEUTICAL ORGANIC CHEMISTRY II | 35 | 29 | 10 | 10 | 5 | 5 | 50 | 44 | | Α | 9 | 2 | |
| PHYSICAL PHARMACEUTICS I | 35 | 33 | 10 | 10 | 5 | 5 | 50 | 48 | | 0 | 10 | 2 | |
| PHARMACEUTICAL MICROBIOLOGY | 35 | 30 | 10 | 10 | 5 | 5 | 50 | 45 | | 0 | 10 | 2 | |
| PHARMACEUTICAL ENGINEERING | 35 | 31 | 10 | 10 | 5 | 5 | 50 | 46 | | 0 | 10 | 2 | |
| | | | | | | | | | | | | | 1 |
| | | | | | | | | | | | | | 1 |

TOTAL MARKS

| PERCENTAGE OF MARKS | LETTER GRADE | GRADE POINT | PERFORMANCE |
|------------------------|-----------------|----------------|-------------|
| 90.00-100 | 0 | 10 | OUTSTANDING |
| 80.00-89.99 | Α | 9 | EXCELLENT |
| 70.00-79.99 | В | 8 | GOOD |
| 60.00-69.99 | С | 7 | FAIR |
| 50.00-59.99 | D | 6 | AVERAGE |
| LESS THAN 50 | F | 0 | FAIL |
| ABSENT | AB | 0 | FAIL |

| SGPA= | $C_1G_1+C_2G_2+C_3G_3+C_4G_4+C_5G_5$ |
|-------|--------------------------------------|
| | C1+C2+C3+C4+C5 |

NOTE 1:DHUS IS NOT RESPONSIBLE FOR ANY INADVERTENT ERROR THAT MAY HAVE CREPT IN THE RESULT BEING PUBLISED ON NET.THE RESULT PUBLISHED ON NET ARE FOR IMMEDIATE INFORM TO THE STUDENTS AND CANNOT BE TREATED AS ORIGINAL MARKS SHEET/MARKS CARD.

SGPA

7.92

NOTE 2: AS THEIR CAN TECHNICAL PROBLEM IN GRACING, SOME DISCREPANCIES IN RESULTS MAY OCCUR WHICH WILL NEED CORRECTION ON NOTICE.

PREPARED BY......RESULT COMMITTEE......RESULT COMMITTEE.....